


C,J,m; é
YT WINPTV




Therefore

Basic Requirements

. The more probable the event the smaller the uncertainty

h(z) should be a decreasing function

The uncertainty about the simultaneous occurrence of two independent
events 1s equal to the sum of the individual uncertainties

h(zy) = h(z)+ hly)

Small changes in the probability should correspond to small changes in the
uncertainty

h(x) should be a continuous function

Recording the outcome of a 50/50 situation requires one binary reeister.
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